
The Party 

• Use the clues to answer the questions. 

 

A packet of balloons 
cost £4.95  The party hats cost 

£41.60 altogether 

   

What did one packet of 
masks cost?  Lisa bought ten packets 

of masks 

   

How many packets of 
party hats did Lisa buy? 

 
 

How much did Lisa 
spend on packets of 

balloons? 

   

Lisa bought some 
packets of balloons, 

party hats and masks 
 A packet of party hats 

cost £3.20 

   

The packets of masks 
cost £19.50 altogether  

How much did Lisa 
spend on the party 

altogether? 

   

 Lisa bought 5 packets of 
balloons.  

 
 

Mathematics - Planning Support 
© Lancashire County Council (2015)




